

observation: in finding [bi], for all i, we use the same row op.s to reduce C to Ip.

Today: 1. algorithm for finding P in V=1R 2. natrix for linear maps

1. Algorithm for finding Let $B = \{b_1, b_2, --, b_p\}$ and $C = \{C_1, C_2, -, c_p\}$ be bases of IR^p .

By the observation, we can find the change-of-basis matrix P as follows:

Thm: To find PB, it suffres to now reduce the mouth's

Ex. Use the algorithm to find $P_{B=C}$, then check that $P_{B=C} = \begin{pmatrix} P \\ B = C \end{pmatrix}^{-1}$.

Eq.
$$V = IR^2$$
, $C = \{ \begin{bmatrix} 1 \\ 2 \end{bmatrix}, \begin{bmatrix} 3 \\ 4 \end{bmatrix} \}$, $B = \{ \begin{bmatrix} 5 \\ 6 \end{bmatrix}, \begin{bmatrix} 7 \\ 6 \end{bmatrix}$

$$\frac{\text{Soln:}}{\text{Colling}} \left[\left(\begin{array}{c} 13 \end{array} \right) := \left[\begin{array}{c} 13 \end{array} \right] \xrightarrow{5} \xrightarrow{7} \\ 24 \cdot 68 \end{array} \right] \xrightarrow{} \left[\begin{array}{c} 13 5 7 \\ 0 - 2 - 4 - 6 \end{array} \right] \xrightarrow{} \left[\begin{array}{c} 13 5 7 \\ 0 & 123 \end{array} \right]$$

$$\rightarrow \begin{bmatrix} 1 & 0 & -1 & -2 \\ 0 & 1 & 2 & 3 \end{bmatrix} , (0) \quad P = \begin{bmatrix} -1 & -2 \\ 2 & 3 \end{bmatrix}$$

Eg:
$$V = IR^3$$
, $C = \{ \begin{bmatrix} 1 \\ 0 \end{bmatrix}, \begin{bmatrix} 0 \\ 1 \end{bmatrix}, \begin{bmatrix} 0 \\ 0 \end{bmatrix} \}$.

Standard basis

Note: $C = B = A$

$$C = B = A$$

$$C = B$$

More examples in HW.

2. Matrix of a linear map. (with respect to a chosen bass for the domain and Det: Let V, W be vec. Spaces. Let T: V -> W be a linear map. Let $B = \{b_1, b_2, ..., b_n\}$ be a basis of V and $C = \{c_1, ..., c_m\}$ be a basis of W. The matrix of T relative to B and C is the matrix M = [[T(bi)]] (the jth column should record the (-decomp.

of T(bj)) Thm. In the above setting we have $\left[T(x)\right]_{G} = M - \left[x\right]_{B}$ y χ ∈ V.

Picture:

Notation: We'll often denote M by [T]B.

Note: Everything should be done relative to the chosen bases.

Then
$$[T]_{B}^{C} = 3(1-2c_{1}+5c_{3})$$
, $T(b_{1})=4t_{1}+7c_{2}-c_{3}$
Then $[T]_{B}^{C} = [T(b_{1})]_{c}$ $[T(b_{2})]_{c} = \begin{bmatrix} 3 & 4 \\ -1 & 7 \\ 5 & -1 \end{bmatrix}$.
Verify then for $x=2b_{1}-3b_{2}$: we have $[T]_{B}^{C}[x]_{B} = \begin{bmatrix} 3 & 4 \\ -2 & 7 \\ 5 & -1 \end{bmatrix}$.
(i) $[x]_{B} = \begin{bmatrix} 2 \\ -3 \end{bmatrix}$, $[T(b_{2})]_{C} = \begin{bmatrix} 3 & 4 \\ 5 & -1 \end{bmatrix}$.
(ii) $[x]_{B} = [-3]$, $[T(b_{2})]_{C} = 2(3c_{1}-2c_{2}+5c_{3})$
(iii) $[x]_{C} = 7(2b_{1}-3b_{2}) = 2[b_{2}-3]$ (a. $[T(b_{2})]_{C} = 2(3c_{1}-2c_{2}+5c_{3})$
 $[T(b_{2})]_{C} = 2(3c_{1}-2c_{2}+5c_{3})$

= (2.3 - 3.4) (1 + (2.(-2) - 3.7) (2 + (2.5 - 3.(-1)) (3 = -6(1 - 15(2 + 13))) (3 = -6(1 - 15(2 + 13)) (3 = -6(1 + 15(2 + 13)) (3 = -6(1 + 15(2 + 13)) (3 = -6(1 + 15(2 + 13)) (3 = -6(1 + 15(2 + 13)) (3 = -6(1 + 15(2 + 15)) (3 = -6(1 + 15(2 + 15

 $\int_{0}^{\infty} \left[T(x) \right]_{c} = \begin{bmatrix} -b \\ -bt \end{bmatrix}$

Eq: Suppose that I has a basis B= {b, b_ } and W has a basis

C= {c, c2, c3}. Suppose T: V > W is the linear map such that

Connection to change-of-basis matrices:

When V=W and T=idv. (ie. T(x) = x xxeV), the presure from early TELDY V or []c/ []B []c / []B /[v]c (R) (T)B [V]B (R)

Eq. Take
$$V = P_3$$
, $W = P_2$, $T: V \rightarrow W$ the unique linear map st. $T(t^n) = nt^{n-1} \quad \forall n \in S_0, 1, 2, 3$.

Take $B = \int_{-\infty}^{\infty} l_1 t_1 t_2 t_3 d3 = \int_{-\infty}^{\infty} l_2 t_3 t_3 d3 = \int_{-\infty}^{\infty} l_3 t_3 d$

Take $B = \{ 1, t, t^2, t^7 \} \subseteq P_3, C = \{ 1, t, t^2 \}$. Then $[7]_{B} = [f(1)]_{c} [f(1)]_{c}$ $\left[T \right]_{\beta}^{\alpha} = \left[\left[T(1) \right]_{c'} \right]_{--} \left[\left[T(t^{\frac{3}{3}}) \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[2t^{\frac{3}{3}} \right]_{c'} \right] = \left[\left[0 \right]_{c'} \left[1 \right]_{c'} \left[$

$$\begin{bmatrix} -1 \end{bmatrix}_{g}^{c} = \begin{bmatrix} -1 \end{bmatrix}_{c'} \begin{bmatrix} -1 \end{bmatrix}_{c'}$$